1290 SUPER ADVENTURE S IKD 2024 <2024><AR><F9942X7>
WIRING HARNESS

Pos Part Number Description Additional Text Quantity
1 61911076000 Wiring harness, rear 1.00
2 61911085133 Engine wiring harness cmpl. 1.00
3 61911046000 cable channel engine wiring ha 1.00
4 61911075133 Main wiring harness cmpl. 1.00
5 61911047000 Cable channel, main wiring har 1.00
6 61911078000 Wiring harness, front 1.00
7 61942089000 Front Radar Sensor 1.00
8 79114086050 Rubber support, CCU 1.00
9 79114086100 Connectivity unit 1.00
10 61911047050 Bracket, KTM MY RIDE control u 1.00

68683



11 69008021160 special screw M5x12 5.00
12 61111018100 Temperatur sensor 1.00
13 60711042000 Power socket 12V 1.00
14 60311042050 Lid 12V-socket 1.00
15 61942090040 Retaining bracket lean angle s 1.00
16 61542090000 Angle sensor 1.00
17 0024060156S HH collar screw M6x15 TX30 2.00
18 61911168000 Race on antenna 1.00
19 61914039000 HLU control unit 1.00
21 61914039010 Control unit bracket, HLU 1.00
22 0081050181 SCREW FOR PLASTIC K50X18 T20 300 TPI Erzbergrodeo 3.00
23 61041085100 PRESSURE SENSOR 06 1.00
24 61041085150 RUBBER SUPP. PRESSURE SENS. 06 1.00
25 61911083000 Connector support 2.00
26 61041095050 HOSE 3,2X8,5 L=50 MM 05 1.00
27 61711043000 USB Power Supply 12V 1.00
28 61916062000 Suspension travel sensor 1.00
29 0025050166S HH Collar Screw M5x16 ISA30 SS 2.00
30 61111057000 RELAY CM1A-R-12V-H80 07 2.00
31 61911057050 Retaining bracket, relay 1.00
32 0025060126 HH collar screw M6x12 TX30 1.00
33 60007020040 PLASTIC WASHER 03 2.00
34 58211058000 Starter reley 12V 99 1.00
35 64111058110 Cover flap, starter relay 1.00
36 61916031000 Control unit semi-active chass 1.00
37 61911034000 Voltage regulator, 50 A 1.00
38 0025060256 HH collar screw M6x25 TX30 2.00
39 60711033000 Control unit MCU 3.0 1.00
40 60711033050 Rubber band 1.00
41 61941031000 Engine control unit "KTKZ" 1.00
42 61741031050 Rubber mount ECU 1.00
43 61411095000 Plug cover 1.00
44 0025060356 HH collar screw M6x35 TX30 2.00
45 58011109130 Plug-in fuse, big 30A 2.00
46 44011076140 CABLE TIE 140/2,5MM BLACK 0.00
46 44011076200 CABLE TIE 200/3,6MM BLACK 0.00
46 44011076305 CABLE TIE 300/4,8MM BLACK 0.00
47 60011093060 RUBBER CABLE TIE 60MM 03 NOT FOR USA & CN 2.00
48 000700000KN001 Plug clip 1.00
49 000700000KEO001 Socket connector clip 1.00
50 0330000520000 Cable tie with foot section 0.00




